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QUESTION 1

What is one benefit of the IBM Event Streams capability?

A. Provides ability to visualize issues in near real time so they can be worked on and reduce wait times
B. Provides a fully managed Apache Kafka service

C. Delivers cross-component tracing and insights on call paths and latencies

D. Provides data streaming functions and optimized bandwidth tiers

Correct Answer: A

QUESTION 2

What is CRI-O?

A. A Windows .NET compatibility library available in the OpenShift Developer Catalog

B. A Kubernetes native container runtime implementation that integrates closely with CoreOS

C. The graphical user interface for Operators to administer applications/workloads running on OpenShift D. An optional
version of Docker optimized for OpenShift when running on cloud provider platforms

Correct Answer: B

QUESTION 3

A decentralized ownership approach in modern agile integration methodology leads to which benefit?
A. Accelerated development agility

B. Operational agility with dynamic scalability and inherent resilience

C. Installation agility that enables auto deployment

D. Business agility with a guaranteed improved time to market

Correct Answer: B

QUESTION 4
What is a Container?
A. A small software layer that enables multiple operating systems to run alongside each other

B. A CI/CD component that automates steps in a software delivery process
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C. An executable unit where application code, libraries and dependencies are packaged
D. A software engineering approach in which teams produce software in short cycles

Correct Answer: A

QUESTION 5

In Cloud Pak for Integration, which object can be used to request storage resources without knowing the underlying
storage infrastructure?

A. Persistent Volume Claim (PVC)
B. Persistent Volume (PV)

C. RADOS Block Device (RBD)
D. Elastic Block Storage (EBS)

Correct Answer: C

QUESTION 6

Which statement describes Container orchestration?

A. A CI/CD component that automates steps in a software delivery process

B. A runtime environment that automates and reports on processes that are intended to help optimize businesses
C. The automated process of managing or scheduling workloads within clusters

D. A small software layer that enables multiple operating systems to run alongside each other

Correct Answer: A

QUESTION 7

Which is an IBM Cloud Pak solution advantage?

A. Full software stack support, ongoing security, compliance, and version compatibility
B. Continuous Delivery and Continuous Integration (CD/CI) tools

C. Dedicated support team for application migration to IBM Cloud

D. OpensStack integration out of the box

Correct Answer: B
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QUESTION 8

How can DataPower Gateway workloads be restored in the DR site?

A. DataPower Gateway container images need to be available in a container registry that the DR site has access to
B. Cloud Pak for Integration can automatically synchronize the running pods with the DR site

C. In Cloud Pak for Integration Platform Navigator, select the running DataPower Gateway instance and then click
\\'Export for DR site\\

D. Containers do not hold state, which would require workloads to be reconfigured from scratch

Correct Answer: D

QUESTION 9

Which statement regarding the IBM Entitled Registry key is true?

A. It is used by the Asset Repository to synchronize with a remote Git repository
B. It is configured in the Platform Navigator

C. Itis required to enable Cloud Pak for Integration capabilities

D. Itis used by the network-based installer

Correct Answer: C

QUESTION 10

What does Agile Integration, as defined by IBM, relate to?

A. Unlocking enterprise data securely using integration powered APIs

B. Implementing event driven architectures for real time integration

C. Adopting microservices based development for better agility and scalability

D. Rethinking the approach to integration that is based on people, architecture, and technology

Correct Answer: B
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